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BUSINESS STATISTICS
Paper : 204
Full Marks — 80
’ - Time ~ Three hours
. The figures in the margin indicate full marks -
for the questions. .
Answer either in English or in Assamese. |
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Answer question numbers 1, 2 and 3 and any
four from the rest.
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1. (i) If the mean of the series X,, X, s X 1S X,

what is the mean of | the series
, L3N l{-—z-, ........ ,Eﬁ_‘? ¢ 1-

s 5 ) 5 5 .
X Xpy wes Xy @TTR W X A



(ii) Fill in the blank : 1
Afer 27 AR 8 ‘
Cost of living index number measures the _

change in price.

'@mwm
ey

(iii) Choose the correct answer : 1

w@mﬁa‘mw

A schedule is to be filled up by the
«a*m Ep of8 T W

(a) Respondent

(b) Interviewer
. appeendiT Wt
~ (iv) Is the following' relation true ? If not, write
: the correct form : ' 1 -
were e STEEeo! ﬁ'ﬁﬁ? 'ﬂﬁ T=H w?as forare
- AM2G.M<HM

wmam‘n@ﬂm<wm
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(v) Write. down the relation behve#n the two
operators A and E. o 1

A TIF E FERS GO WG AEE! B
(vi) Coeﬁi_(lzient of variation of two players A and

B are 21.5% and 29.3% respectively. Is ‘A’
more cons:stent than B ? 1 _

Emca*la?aAWB—aﬁ'smwﬁmzl 5%
uIF 29.3%! A, B @h mﬁ@vfw?

(Vii)Fill in the b]ank | o 1

The independent variate values in interpolation
- are-termed as

TS X TR W - {% R
T o
(viii) Gi\»;e an example of time series that exhibits’
seasonal fluctuations. o
e <51 Bzt frat Redt wgie st
By IR
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(ix) Choose the corréct ans_wcrv : 1
o et flfon = ¢
Which of the following is a unitless
.- measure ?

R e e RER et 7
(a) Med_i_an ().
* (b) Standard deviation (W ﬁw)
(c) Mean deviation (QNS Reem)
(d) Coefﬁment of correlatlon :
ATE T

(x) If A is an impossible event, what is the
probability of occurrence of the event A ?
| 1
% <51 <61 A FREHS (FRITB! SIS T, (o0
A B! DS @A TSR R 2

2. 'I(a) ~State two essential points to be noted while
drafting a questionnaire. 2

WWMWWW@
R st Sme =11
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(b) State the F actor Reversal Test of Index
number. - 2

Kalia BAri etﬁscaw 'ﬁm W Sl
(c) Find the Geometric Mean of 0.3, 0.6, 2.4 and
4.8. o . 2
0.3,.0.6, 2.4 T 4.8-7 WG Wy TRreat |
(d) Explain briefly why corresponding to two

correlated vanables there are two regression .
lines. - 2

B! AEEYE HeRIM AATE o1 [y ot
TR R CART T, SR IO AW

"(e) What are the two broad ways of controlling -

- the quality of a product ? : 2
ﬁmaﬁ%mmwmam@ﬂm
fee |

3. ,Amwer any four parts of the followmg
- 5x4=20
o’ R @ s T e BRA 8
" (a) The average weight of 500 students of a
certain college is 1511bs and the standard
deviation of weights is 15 Ibs. Assuming that
the weights are normally distributed, find the
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probability that the weight of a student lies
between 119.51bs and 155.5 1bs. '

Given; Z =03, Area = 0.1179
and  Z =121, Area = 04821
@I @3 TRRMERR 500 TW QI 1T 6T
151 AT T (SEEIT @GR W [Roeww 15
m|wemmmﬁwﬁm
el 4f<{te B @waq 8T 119.5 IIF 155.5
sﬁ@w fSote @R TwiRkel @Tﬁ@an
| Z=103, Jf=01179
we - Z =21 I = 04821

(b) Discuss the relative advantages and limitations
~ of sample survey and census survey.

erf@ﬁ*fm‘wwﬁmﬁmmﬁfw:ﬁm
oI ﬁmzrw A 4 | /

© Let x and y be two related variables for _
which 10 pairs of values are available. The -
. variables are transformed to u and v by the
following relations :
Qu= x—-39
3v=y-25
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~ The following values of u and v are available
Tu=10, Zu’=148, Tuv=123,
Tv=0, XTv’=164

Find the correlation coefﬁment betwween x-
and y and hence mterpret the value of the
coefficient.

'ﬁﬁﬂlONﬁW%’ﬁTny@!W
mlwzﬁwﬁmwwuw
v &7 FelfelRe 1 T

2u=x-39, 3v=y-25 .
_uwsv-awﬁmmcvnmﬂ’a

Zu-—lO Su? =148, Suv=123,
v.Zv 0, Xv* -164

""ny«wmmwwam@M
oiE 2R AN GGl I |

(d) Define matherﬁatical expectation A random
variable x has the follomng probability
distribution : S 2435

x. : 1 2 3 4 5 6.

R T R R
PR 5 6 6 6 6 6
Find E(x) and var(x).
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‘;,:Wmﬂ"@ thaﬁ%m-
x—awﬁ@ﬁ‘?ﬂ@'ﬁ@ﬁm?@i

X o1

R

- P()

o\‘_ .

| '_E(x) 2159 var(x) ﬁ‘l‘ﬂ WI

"(-e')_ Explam the concept of Type-I error and
Type-Il error associated. with Testmg of
Statistical hypothesis. -

ﬂﬁmﬂﬁnm@waﬂ@@@@uww
'-ﬁwfﬁawmwﬁmmm_
| -

4. (a) The following data give the number of
passengers travelled by Indian aviation flight
from Guwahati to Delhi from Monday to
Sunday in a particular week :. 6

_290 - 300 265 __,.270 _200 315 320
+.  Calculate the mean and standard deviation.

<5t TS AQT GINRRR «iat RN ezt
ol AR Wioe ool RN veve Rer
ﬁmmwwwﬁwmmwﬁmﬁ°

290 300 265 270 200 315 320
SUPERE Wy wiF AN [oaw [ 340
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(b) Determine the number of passengers that lie
between (i) ¥+ and: (11) Xt 2¢ from above.

(X= mean, c = standard devratlon) 4

eoge  faal wﬁ (1) T+g E
(i) X+20% Sies R ﬂ\‘ﬂﬁi B G
@%\aml

5. (a) What is a binomial probé.b'illi'iy d_i.s.tribution ?
Mention the properties of ‘this distribution.
| 2+4=6
fRotw 'ﬁ@T@W % ﬁw ey zrw aﬁ%‘{q t“s‘cm
411

() A proBlem in Statistics is given to three
students A, B and C whose chances of solving

it are % % and % respectively. What is the °

~ probability that the problem: will be solved,
if they try it mdcpendently ? 4

ARy REFR % <6l TR aﬁ?ﬁ IR
Rofe 2d A, B @iF C-5 a1 TR (SEETT

11
wﬁwma%mﬁ@ﬁ@w >3
—azrﬁﬁmmmmaﬁacsﬁr

WWWWW&HWW%@W
fem 292
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6. (a) Fita su'éig‘ht line trend to the time series data
-given below and obtain the trend value for
the year 1977 6

Wﬁmwﬁ@% o]t uﬂ%‘iwhﬁas
Bomfe AgH 9 I 1977 571 Soieq Wi
Tfeneat ¢ |

Year (zm) 1974 1975 1976 1977 1978
. Sales (Rs’OOO) 35 - 56 79. 80 40
(R 2000 5=19)

~(b) Write a brief note on the usefuhless of index
number. 4

| -mwwmmwmwmm;

7 ' (a‘)‘ Given . below the bivariate data : 3+3=6 |
SRR [

x:2 4 5 6.8 11

yr 1812 '10'_ 8  7 5

(i) Fit a regression line -of y on x and
estimate y when x = 5.8,

X1 99Oy TS (4 Bl 1 o1
X W 5.8 AATE yI WA R
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(b)

I(ii)' Fit a regression line _-,of x on y and

estimate x when y = 9.5.

§q @oS x-q TR R TR T S
Cy= WA 9.5 TMeE xA W et
9| - ‘ ‘

Explain the different types of correlations
with suitable examples. Y

BoRe ez YA eeRe weTTE I

B f

(a)

What is interpolation ? 2+4=6
s e '

- Given that f(0) = 8, f2) = 11, f(4) =20 and

f(6) = 41 find f(l)

ﬁmmf(m—s f(z)—ll f(4)—20w

6) = 41, (1) Rfw =
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(b) Calculate Fisher’s price index number from

the data glven below : 4

we Al YR ot fp1es ‘SJ?[I AEIRF oAt

e _
Commodity  Price per unit ' Quantiﬁes

(Rs.) (Quintal)

A avvs (Gere) AR (FXEET)

1975 1990 1975 1990

A 6 10 . 50 56
B 2 2 100 120
C 4 6 60 60
D 10 12, 30 24
E 8 1 40 36
(2) Write short notes on : 3x2=6
oY ot forat ¢ B
(i) Kurtosis
" s
(ii) Limitations of statistics.
ARy R Aot |

-(b) Discuss the causes of variation in statlstlca.l
. quality control.

AR oot RmES atre R
| IR SIS 3 | | )
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